Wy 3l & B

Multipliez les nombres décimaux par 10 100 1000

Nom: Date: Note:
2,013 x 1000 = 6,769 x 100 =
4,84 %10 = 8, 155 x 10 =
2,44 x 10 = 4,348 x 10 =
3,968 x 1000 = 6,988 x 10 =
8,865 x 10 = 3,881 x 1000 =
8,492 x 10 = 5,259 x100 =
6,973 x 100 = 3,895 x 1000 =
9,165 x 100 = 1,515 x 10 =
3,28 x 100 = 8,131 x 10 =
7,837 x 100 = 10, 768 x 10 =
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Multipliez les nombres décimaux par 10 100 1000

2,013 x 1000 = 2013

4,84 x 10 =48.4

2,44 x10=244

3,968 x 1000 = 3968

8,865 x 10 = 88.65

8,492 x 10 = 84.92

6,973 x 100 = 697.3

9,165 x 100 =916.5

3,28 x 100 = 328

7,837 x 100 = 783.7

Date: Note:

6,769 x 100 = 676.9

8, 155 x 10 = 81.55

4,348 x 10 =43.48

6,988 x 10 = 69.88

3, 881 x 1000 = 3881

5,259 x100 = 525.9

3, 895 x 1000 = 3895

1,515 x10=15.15

8, 131 x 10 =81.31

10,768 x 10 = 107.68
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